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mmémé L' {(p+3)(p l)}
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Using convolution theorem, find the value of

Gl

Q1. WA x+y=1,y-x= 1T y=2F T By H
YOIl W HHM: g P, Q, R b5 axa &1 997 aRoreh
aa & s T @1 witawor s SR

Three forces P, Q, R actalong the sides of the triangle formed
bythelinesx+y=1 y—-x=1y=2

Find the equation of the line of action of their resultant.
: dA9ar [ OR
o a1 A WA M x=0, y—z=2a y=0 7 x= a;

z=0,x-y= ﬁmgi%evﬁmmé%uﬁ@@ﬁm%@
gEgH & God AP T AT o1 Weverr 2
Three forces acting along the straight lines x = 0,y-z=3

y=0z-x=22=0,x~-y=a ShOWthatthe
reduce equivalently to a couple. ¥y connot
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T - '3’/ Section - A
aFGE WA/ Objective Type Questions

Q1. gl f@ex giAg)

Choose the correct option:

N
i) hm(l+—’ a;rm:{g

0

) xY
The value of lim (H-—) is

4= I{)
@ »n : O
(c) e! (d) xe-.r
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@ 0

(@)

Ao "z-:d %'; % onlineBU.com
() et () gwrd
(®) derTery (@) T Ao A

o Va '
. n .
The series 2:-—2 is

n=|
(@) Convergent
(c) Oscillatory

(b) Divergent
(d) None of these

a2 fla+0) = fla—0) = f(a), G99 x = a T Fe YA &:

(%) =T srTaeTar

(a) wuq uPR 6 I

(w) fadta yor 6 ST

(7) = A B T

iffa+0)=fla-0)=f(a), thenatx=a function has:
(8 Removable discontinuities

(b) Discontinuity of first kinds

(c) Discontinuity of second kinds
(d) None of these

. Xy '
lim ——7> 19 g
(r.2)20.0 x* + y* =t o

(1) 0 (@) 1
(a) -1 (3) s T €

Iim —— i
The value of , /350.0) x? + y2 'S

(b) 1
(d) Does not exist

c) -1
© Contd.....

ML-68 (P)

YA-244

V)

vii)

viii)

- (®) sinat

)
J, x BT HIT & ,
2 , 2
(%) — (a) o cos X

(®) \/%sin‘x (z) 0 @ o T

The value of J, xis:

2 2
@ — (o) |—— €osx
X X
2 .
(). |J— sinx
X

(d) None of these

P,(x) &1 A1 & onlineBU.com
The value of P(x)is:
@ 1 (b) x

© %(3;:2_1) @ _%(5;:3_3;) '

afe L{f()}=F(P), &a Litf(t)} BT 77 &:

it L{f (1)} =F(P), then value of LB} is:
(@) F(P) (o) -F(P)

@ [ Fedx @ FP)

AR L
P id T Y 2

(31) Sin at (@) Cosat

(%) 7 & o =8
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The value of L {Pz +a2} is

@ Sin at (b) Cosat
(¢) Sintat (d) Noneofthese
_ix) AR S F s 3R x ¥ Wy &

The relation between s and x in a common catenary.

(al S=Ccosh% (b) Sﬁcsinﬁf
(©) S=Sinh% d) S=cosh-§
x) af2 @ P o B ¥ @ ga § afmm @ @@

IR TR &: _
- If a partical moves in a circle of radius a, then
transverse acceleration is:

@ &
©) ab.

(b, @
d) —ab?
@ve - ‘@’ | Section - 'B'
@ Sdd 99 Short / Answer Type Questions

vafie g T UHfE adHE Srgm B aRwiia
HRT 7 TP B TH ISR SIS

Define monotonic decreasing and increasing sequence and
give an example of each.

Fyar /| OR

' ﬁwMﬁaﬁwﬂmmqﬁmﬁﬁm'

Test the convergence of following series
| 3 5

Q.5.

YA-244

®)

- Ryg i fb wer f(x)=x2m[-1,1]ﬁwm

waq gl

‘Prove that function f(x)=x’ is uniform continuous in

interval [-1, 1].
Jgatr | OR
Rt FemE THT BT YA fafag

Write the statement of second mean value theorem.

[P gx—‘[x'" 1,0 ]=~x" Sy (x).

d -n‘ -n
Prove that - ¥ T @) ==X J, (9.

F#gar /| OR

Rz fF P _(1)=1
Prove that P_ (1) =1.

ne

L{Re¥} BT AT 1A ST
Find the value of L{{?e™}
J#yat [ OR

L"{J;L—a}mmmm|

onlineBU.com

{
. L-l 1
Find the value _—_\/m

TR St & forg fig Fifvg s p=c2+ 32

For a common catenary, prove that y? = C? + §2
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(6)
T4 | OR
fr= = wRenfia difvg '
) @R 3) vl A

Define the fo!iowing

a) Acceleration b) Angular velocity

@ve - ‘8’ / Section -'C’
a1 ITF 9 Long / Answer Type Questions

Q7 ﬁazﬁﬁv%amﬁmmﬁmu@maﬁwﬁm
uRag & &

Prove that every convergent sequence of real numbers is
bounded.

e | OR

2 3 El

m_ X +x X

1223 34 45
Tigor Hfm

Test the convergence of series

x x X X

+—t—t+—+
12 23 34 45

a@w@ﬁﬁﬁ

sml ,x#00

f(x)=
0 ,x=0 "
= 0 TR FAd & U IAGEH Tal 8

yA-244 ML-68 (P) Contd.....

™

ShO\-N that the function

1
xsm— ,x¢0

f(x)=
0 ,x=0
is continuous at x = 0, but not differential. |
3gar /| OR .
ﬁrz?ﬁrﬁmﬁia’taﬁasa’lmmmmww

Fada B i gl
Prove that sum and difference of two continuous functions in
two variables are continuous.

Q9. ey weftaor @) Tra Aot R | g i

Solve the following equation by power series method.

2 .
i—z <X % +y=0
dx onlineBU.com
Fgar [ OR
Rig Hifom H
Prove that
(-" 12n

B,,@=0and P,, (0) = 2727 (ln)?

. e-al _e—bl
Q.10. L — T 9 TG S

e-al _e-bt
Find thevalue of LYy——¢ .
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